CONEC

h b4

IS CERTIFIED UNDER 150 9001, ISO /TS 16949 AND CSA/ UL/ VDE APPROYVED

Water resistant D-Sub Connector
Solder pin straight
Termination type R

Npoc;s‘_’f A +0,2 B +0,2 C D1 +0,25 | D2-025 | E -0,30
9 21,10 39,40 25,00 " 16,79 16,46 5,62
15 21,10 47,70 33,30 i 25,12 24,79 5,62
25 21,10 61,40 47,04™" 38,84 38,50 5,49
37 21,10 77,90 63,50 " 55,30 54,96 5,49
50 23,90 75,50 61,10 = 52,68 52,55 5,49

Mounting Type

M3 [67

threaded insert 4-40 UNC




Mounting Type

Clip M3 E1
threaded spacer-clip 4-40 UNC

79203 Die cast frame

version
7.320.3 H.a:l;ilg"ame T.820.3 l.Il.'ltﬂuvl:“‘t:.f:l‘ﬁll;I'ralrl'lte
VEISIONn
- 7.3203 Plastic frame

W Ve NE

5025 ae“:'ﬁ‘t frame H
4.420.25 Plastic frame | 5+ 0.25 Die cast i'rameX
WErSion ' version
442025 Plastic frame
Version
M3
L-40 UNC

No. of pos. 9-37

= - -
[ : =
il e o
[ -
2 : |
= ¥
3 ]
M3
L-L0 UNC
No. of pos. 50
No. of pos. 5
Sealking compound
Sealing compound
I‘ uI ] ’ 0-Ring
= 0-Ring So [ i
ET: m 8230% Sihcon-Dashke
w 1]
1 K| 802.05
-

No. of pos. 50

1095797




How to create a part number

for D-Subminiature Standard and High Density unfiltered and filtered

Order example: |

Preduct line

* = Shell yellow chromate (plug without ground indent),
black plastic frame.
4 = Shell tin plated (plug with ground indent),
black plastic frame.
RoHS compliant
6 = Shell tin plated (plug with ground indent)
Die cast frame, bright nickel plated
(Industry preferred type).
RoHS compliant
* = Shell yellow chromate (plug without ground indent).
Die cast frame, bright nickel plated.
* = Shell stainless steel (plug with ground indent).
Die cast frame, bright nickel plated
(or without frame).
RoHS compliant.
* = Shell stainless steel (plug with ground indent).
Black plastic frame.
RoHS compliant

* not applicable for STF and HDF series.
(gold plated shells are available upon request)

Contact arrangement

STO = D-Subminiature- standard

STF = D-Subminiature- standard, filtered
HDD = O-Subminiature- High Density

HDF = D-Subminiature- High Density filtered

Mo, of pos, for No. of pos. for
09 = 09-pos 15 = 15-pos.
15=15-pos 26 = 26-pos.
25= 25-pos 44 = 44-pes.
37 = 37-pos 62 = B2-pos.
50 = 50-pos 78 =78 pos.

Lontacttvpe
P = Plug connactor

(6] [sITI] [olle] [s]
T

S* = Female connector “not applicable for STF and HDF

Plating code for contacts

A= Quality class 3= 50 Mating cycles
B = Quality class 2= 200 Mating cycles
C = Quality class 1= 500 Mating cycles

J = telecom application == 500 Mating cycles available on request only

Solder cup

FC tail straight

PC tail angled, 188
PC tail angled, 276
FCtail angled, 463
FC tail angled, 220

“not applicable for HOF

<NcHDE|
RN

{only for High Density ,HOD" and HDF")

M [ols] B [o)x]

N5 Tolerance
@ Tolerance
% Tolerance

* not available for HDF

style

veted through hole for cable mount

hreaded insert M3

hreaded insert 4-40 UNG

hreaded lock for front mounting M 2

B5 = threaded lock for front mounting 4-40 UNG

B7 =threaded lock for front panel mounting UNGC 4-40 and with rear stud fixed for
panel thickness 3.1 mm

B71 =threaded lock far front panel mounting UNC 4-40 and with rear stud fixed for
panel thickness 6.4 mm

B72 =threaded |ock for front panel mounting UNC 4-40 and with rear stud fixed for
panel thickness 8.9 mm

B73 =threaded lock for front panel mounting UNC 4-40 and with rear stud fixed for
panelthickness 12.5 mm

E1 = threaded rear spacer-Clip M3, PCB 063, Standard

hreaded rear spacer-Clip 4-40 UNC, PCE 063, Standard

etal bracket, threaded insert M3

etal bracket, threaded insert 4-40 LUING

etal bracket, threaded insert M3 and Clip

etal bracket, threaded insert 4-40 UNC and Clip

etal bracket, threaded insert 3

etal bracket, threaded insert 4-40 UNG

etal bracket, threaded insert M3 and Clip

R4 = metal bracket, threaded insert 4-40 UNC and Clip

Standard- and special version 0X = standard




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

Amphenol:

4HDD78SCR99B20X 4STD15PCR99A10X 4STD15PCM99B70X 4STDO9SCMIIB70X 4STDOIPAMIIB70X
4STD15SCR99A10X 4HDD15SCM99A10X 4STD50PAMI9AL0X 4STD15SCRIIE20X 4STD15SCMIIB70X
4STDO9PCR99E20X 4HDD26SCM99B30X 4HDD26PCR9I9E20X 4STD15SAM9IB70X 4STFO9PAMO5B30X



https://www.mouser.com/conec
https://www.mouser.com/access/?pn=4HDD78SCR99B20X
https://www.mouser.com/access/?pn=4STD15PCR99A10X
https://www.mouser.com/access/?pn=4STD15PCM99B70X
https://www.mouser.com/access/?pn=4STD09SCM99B70X
https://www.mouser.com/access/?pn=4STD09PAM99B70X
https://www.mouser.com/access/?pn=4STD15SCR99A10X
https://www.mouser.com/access/?pn=4HDD15SCM99A10X
https://www.mouser.com/access/?pn=4STD50PAM99A10X
https://www.mouser.com/access/?pn=4STD15SCR99E20X
https://www.mouser.com/access/?pn=4STD15SCM99B70X
https://www.mouser.com/access/?pn=4STD09PCR99E20X
https://www.mouser.com/access/?pn=4HDD26SCM99B30X
https://www.mouser.com/access/?pn=4HDD26PCR99E20X
https://www.mouser.com/access/?pn=4STD15SAM99B70X
https://www.mouser.com/access/?pn=4STF09PAM05B30X

